ear L1 (Extension)

Egnations Test

( CLANBROOK - MAR 2042 )
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L. Solve 8. Solve then graph the solution on 4 number line.
(a) 6m=-5=4 (2) (a) ,4x—3,>9 (4)
2a—-5 a—-2
by ——=6- 3 1 i '
ONEE. 3 @O e (4)
2 o 3 i R
2 Solve then graph the solution on 2 qumber line. Fhe solution on a number line. 9. Solve the following simultaneous equations.
(1) T—4(x+3)>x (3)
] 5x -3y = 38
. (a) Tx 42y = 16 (3)
® FE>x-2 _ e (3) Xty =
2,2
X" +y =16
(b) Y (4)
Ix-y=4
3. Solve
X+2y+4w =15
(@ 3y'-2y-8=0 @) | © X+y-w=7 (5)
Sx+4y+w=9
B a+2=6 )
10. Solve
4. Use the "completing the square" method to 3
solve 2x%—6x-1=0 () ’;f: >3 4)
2x
®) =3 <x (4)
5. Solve 4x*-2x-1=0, giving the roots 3)
in their simplest surd form. (©) l X + 3, > 2' X — 1' (4)
6. Sole | 11 Simplify
@ x*-x-1220 7(‘2) x2 -9
. (a) —\[—(——TS_)’ (3)
, X 2 .
(b) Tx>3x (2)
®  |2x-1]+|x+3] (3)
7. Solve
2x -5
(2) 3 ’ =4 (3)
®  [2x+7|=4x-1 (4)




| (Extenpion)

&lua{ wond Teat

,,’|/ 0-/ 3/13/ 5 .,/ Y
\] 6m-5 =4 e+ @ = 6 23':3‘5‘ =4
2
6m-5 =4 axa 4 X+ = axé 225 _ 4 2% -5 - -4
tm-5 = 16 0"1 60 +5 5 3 = 3
b = 16+5 - 2x-5 = 43 95 -5 = ~4x3
- -1) =0
6n = 2 (a-35)a-1) = -5 = 12 2%-5 =12
- % = 5»' I_Z_ wWe oz 12+3 QX = ~1245
m_3L x = N 2% = -7
= 2 ] 4../ a1 x -3
= 2 = l
]_2— 2;- Ex -1t =0 g+ . _3,_1_
a xX o= 2 X = 2
Iy 2% ~6x =z | ‘
i
2a-5 . 0-2 1t 6x | . ox = 8% -33
= - 422 FER p
4 2 Y 2 2 . 3
20-5 - xt -3x = % l’v
2y S % k6 -12x T3 . o 2 +[_3])_ b,
x =3x+ (=2 = 3T 2
3[2a-8) = 12 - 4[a-2) X [ [;%2 ?f . : 2 +7] = 4x-1
-5 = 12-4a+38 -7 =2 F '
Sa > 312 I 2% 41 = 4x -1 2I+-’=-[4-X.—l)
GL+4a = 12 +9+15 (x-%)" = 7 .
. a5 3 . WAL 2 -1 2+ 7 2z ~hx+)
- - S
Be = -2 = I4_ W = -8 X +4x =1 -1
@ = i * 3 + -8 )
1 x=-3 = I 2—"— x = T3 Ex = -6
i -6
a = 92 l'_ﬁ x = 3+ {0 x = 4 Xz g
3 2 = =1
Y - 4( 35 Q_Mzé‘ll
- + _ ‘
x+3]yx 4y’ - 2x -1 =0 anee | 2x+7] 30
1o a2y 2 then  4x-130
“dx -x o3 12-1 3C___—!:~-lJ\:2-4ac ’
20 4x 31
~3x % 5 . 5 N i
e s (T o >
‘g = x = 22 [22344)(4-)( i X2 4
. ' c=4 1 only Aabubio .
x & } . 2 m x=4 B ﬁlj 4 n IT
. 3
-f«; a2 S o ' 2 = ——-218@ Y
T2 4x-31>19
3 = 2% %y {3 | |
Yy 2+8r 4x-35 9 4x-3¢-9
- )
j—;—‘ y X2 B ) > 4x 5 Q43 4y ¢ -943 -
- 3 { e ¢ -6
Tx > 3lx-2} = ﬂ_\;_JSA x> ‘j he < -6
2 ¥ &
T 3x -6 = {5 x>34 ‘ T_t_-
= . < -
-3y -6 F H x> :
e ; TTIRT S 2 ¥ E
x5 F a 2 2 50 3 }
x )-\’;? x-F -2y [_4—'—
-4 :
; {x~-4)(x+3]) )0 .
[ T u)' 1 | T . -3 4 1
T3 L o ' x$-3  xy4 Tees] ¥ 7 (where xz-5)
3
r ]T ]x;+5|$ 2
3, 4
$5 3 -2
352—25-3=0 e"?/ 2 x+5¢2 x¥3y
Tx > 3x x & 2-5 x p -2-5
(3y-6Mayr4) _, 2 ¢ -3 3 -1
3 = Ix -3x" »0 x & x 2
(4-2)(3y+4) =0 . «(1-3x) >0 S o=T¢x g-3 bub x#-§
=2 ~F a -
4 ‘ -? 0 x< 3 0 E = -Tgx-5 | -5<x¢ 3
5:‘2,_'3 0<x<2%
2 L 1 1 L} L)
2] T YT
[2] o
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0, ¢,

< = ud . L
Sx-35;3‘8 __ @ - |x+3}>2!x-\] i \
Tty =16 @ *=1 —0  [lx3l] > [2]x-ul]
. Aub ® ko ® [x+3)% » 4(x-1)?
0 0x - by = 16 —© 8x 7+ 5y =16 <+ 20xx3 434 >4t - 2xxxi+ 12 ]
©u  axrly=w 8 56+ 5y = 16 K h B k9> 4204 1)
®+® 3x = 4 5y = 16-56 Wk BX +:I > 4x2-8x+ 4
xX = L.ag"lL 5y = ‘_Afo 0y "fxzz-x -8x-6x +4-9
x =4 —® Y=z 5 0y 3x* -l4x -§
»ub @ inte @ y= -8 —® 0y (31-153)[3:”!)
-3y = 38 .
Sxk -3y 18 Ab® ond @ Wto @ 0> (x-5)[3x+1)
0 -3y - 547 + 4x-8 4w =9 (x-3){(3x+1) <0
-35 = 33-20 35 =32 4w _q
‘33 = 18 . v
3 =9-35+32 BEY S R
=3 Wz6 '
\:‘::-G
! x =7 = -3 wW=6 W
fooxs4h y=-6 i B [5 ] x*-9
: } J1x+3)2
\O/Q/
by . o x+5 3 . Lx-3)(x43)
Tty = 16 —_— . a-x 7 Jx +3]
3x-y =4 __@ Cundefined when a=7) (- 3]0 4 3 TR
xX+3 2 2 x+3
x (1- 3x[1- = .
from @ -4 - ® T-x =13 (1-] (x-2)0x+3] ¥ ox<-3
) =3 — (s +8)(1-2) =301-%x)* y 0 ~(x+3)
Ab @ anto @ . (1-x)[Cx+5) - 3[1-x)] » 0 -3 W xy3
x2+[3x-4'] = 16 [(1-x)(x+5 -2t +3x) o0 = -[x-3] A g3
0 +[3:x]" - 233 x4 +4 216 (1-x3¥4x-16) %0 ' .
DL (LR Y VR [T 4(7-%)[x-4) 30 . {x—ﬁ JEVENDE
0x® - 24x = 0O 46z - - 3-x Wox<-3
thsx—u]:j 2 bt ance x £ ' 3
*=0s —8 fen +¢ x < T Wy
Ab @ into @ " l-;‘_ fox -] +]ac +3]
when x=0 whén x=5 10 by, (efitical valugh = .;:‘_3)
5:3\&0-4 5:3;(%-4— _'Z_J-c._a_<x
e = 36-2 = l2ac-1| + 12 3]
5 ( undefinad when x=3)
= 6 _ - i - -
IT i’ls x Lx-3)* ¢ x % [x-3)° _ (2 -1 =[x +3) lf 3;4 ’ L
L3) - x{x-32<0 = 9 -(2x-1) +[x#3)  aF -3x<y
x =Q, 5:-4-‘ o 2x[x-3) x('x Cx-) 4 (243) § 2
x =z 2%, y= 3% (x-3)[2 ~x{x-3)] <0
ﬁ_— (x-3){2x-x?+3x) <O 2%+l =x -3 ¥oxg-3
[x-3)[5x-3cz]<0 = ~2X+ Il xtd i -3~<J(»<“2'
% - ; x[x=-3)(5-x}) <0 2x~1 + oL+3 i ay
x o+ 3+ Wz _Q
Ix ¢ -w =1 2 \I"‘ /\ ~3x -2 |1'P 15-3
3 - S 04X ¢3 x5 o 3 s\ W oaa<x<d
5%+ 4y +w =1 —Q ’ = -+ 4 ho-3kx<y
F 3 +2 if X3
©+e fx + 5y =16 _® E—
@ x4 \'2){""“3-'1"‘01:28‘ —0
Q+6 Bx +6y = 43 —®
® %6 Mx+y=% 0O
@ls 651“‘303 = 215 —_®
@-@ Mx = 119
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